AOunameTp ¢pnaHua ana | MowHoctb T9Ha, Pasmep npucge,quuwre
HaumeHoBaHue - MarHueBoro NbHbI pasmep
MOHTaXa TIHa, aonum KBT
aHoAa, MM MarHueBoro
WPT-HT-160 1%" 1,5;3;7,5;10 ?26x300 1%"
WPT-HT-200 1%" 1,5;3;7,5; 10 ?26x300 1%"
WPT-HT-300 1%" 1,5;3;7,5; 10 ?26x400 1%"
WBT-HT-100 1%" 1,5;3;7,5; 10 ?26x300 1%"
WBT-HT-160 1%" 1,5;3;7,5;10 ?26x300 1%"
WBT-HT-200 1%" 1,5;3;7,5;10 ?26x300 1%"
WBT-HT-300 1%" 1,5;3;7,5;10 ?26x400 1%"
WBT-HT-400 1%" 1,5;3;7,5;10 ?26x600 1%"
WBT-HT-500 1%" 1,5;3;7,5;10 ?26x600 1%"
WBT-HT-800 2" 12; 15 ?26x600 1%"
WBT-HT-1000 2" 12; 15 @26x700 1%"
WBT-HT-1500 2" 12; 15 @26x700 1%"
WBT-HT-2000 2" 12; 15 @26x700 1%"
WBT-SV-2500 2" 12; 15 @26x700 1%"
WBT-SV-3000 2" 12; 15 @26x700 1%"
WBT-SV-4000 2" 12; 15 @26x700 1%"
WBT-SV-5000 2" 12; 15 @26x700 1%"
WBC-HT-160 1%" 1,5;3;7,5;10 ?26x300 1%"
WBC-HT-200 1%" 1,5;3;7,5; 10 ?26x300 1%"
WBC-HT-300 1%" 1,5;3;7,5; 10 ?26x400 1%"
WBC-HT-400 1%" 1,5;3;7,5; 10 ?26x600 1%"
WBC-HT-500 1%" 1,5;3;7,5; 10 ?26x600 1%"
WBC-HT-800 2" 12; 15 ?26x600 1%"
WBC-HT-1000 2" 12; 15 @26x700 1%"
WBC-HT-1500 2" 12; 15 @26x700 1%"
WBC-HT-2000 2" 12; 15 @26x700 1%"
WBC-SV-2500 2" 12; 15 @26x700 1%"
WBC-SV-3000 2" 12; 15 @26x700 1%"
WBC-SV-4000 2" 12; 15 @26x700 1%"
WBC-SV-5000 2" 12; 15 @26x700 1%"
WBI-HT-100 1%" 1,5;3;7,5; 10 ?26x300 1%"
WBI-HT-200 1%" 1,5;3;7,5;10 ?26x300 1%"
WBI-HT-300 2" 1,5;3;7,5;10 ?26x400 1%"
WBI-HT-400 1%" 1,5;3;7,5; 10 ?26x600 1%"
WBI-HT-500 1%" 1,5;3;7,5;10 ?26x600 1%"
WBI-HT-800 2" 12; 15 ?26x600 1%"
WBI-HT-1000 2" 12; 15 @26x700 1%"
WBI-HT-1500 2" 12; 15 @26x700 1%"
WBI-HT-2000 2" 12; 15 @26x700 1%"




HameHoBaHue

ApTUKYN

MouwHocTb
T3Ha, KBT

MpucoeauHuten
bHbI pasmep
T3Ha/AHopa,

AloMm

HanpsxeHue,
B

T3H WH
1x1,5kW ¢
TepmocTaTom

930034

1.5

1yz "

220/380

T3H WH 1x3
kW c
TepmocTaTom
@8,5 * 370 mm

930009

1yz "

220/380

TOH WH
1x7,5kW ¢

TEPMOCTATOM
@RS *280 nam

930035

7.5

1yz "

220/380

T3H WH 1x10kW
C TepmMocTaTom
@8,5 * 470 mm

930036

10

1yz "

220/380

T3H WH 1x12
kW c
TepMmocTaTom
@8,5 *400 mm

930037

12

220/380

T3H WH 1x15kW
C TEpMOCTaTOM
@8,5 * 550 mm

930038

15

2Il

220/380

T9H WH
1x7,5kW @8,5*
280 mm

930010

7.5

1yz "

220/380

T3H WH 1x10
kW @8,5* 470mm

930011

10

1yz "

220/380

T3H WH 1x12
kw @8,5* 400mm

930012

12

2Il

220/380

T3H WH 1x15
kw @8,5* 550
MM

930013

15

2Il

220/380

MarHuesbin
aHog M8*30 mm,
26 x 300 mm

930022

1 %Il

MarHuesbin
aHog M8*30 mm,
26 x 400 mm

930023

1%"

MarHuesbin
aHog M8*30 mm,
26 x 600 mm

930024

1 %Il

MarHuesbin
aHog M8*30 mm,
26 x 700 mm

930025

1 %Il




